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NDA 1 2024 MATHEMATICS MODEL TEST
Timing: 150 minutes M.M: 300
INSTRUCTION:- Read guestions carefully. For each wrong answer, one-third (0.83) of the marks assigned to that

question will be deducted. Each question contains (2.5) marks. /9351 &1 &I ¥ Ug. e Tad SIX & o0, S U39 &
fore feiRa sidl # & v fBrE (0.83) 3 BIC WU | T U3T H (2.5) 3 T |

1. Which of the following is correct (a) 2x-5 (b) | x|
(a) tanl>tan2 (b) tanl=tan2 () X2 (d) x?+1
(Q—'M%g_)—mn'i 10. The_domain of the function

2.  Which of the following relations is correct F(x) = Iog(ﬂ+JGTx)§
(a) sinl<sinle (b) sin1>sin1°

_(é)_@ (b) (o, 6]

T . .
(c) sinl=sin1° (d) ———sin 1=sin 1°
Sin1=sin-- 180

3. tanl°tan2°tan3°tan4e........ tan89° =

(c) [4,6] (d) None of these

. 1+sinx —4/1-sinx
im

(a) 1 (b) O 11 >!—>0 X -
(€) (d) 1/2 (a) -1 (b) 1
4. If cos@—sin@ =+/2sing, then cosd +sing is equal to (c) 2 (d) =2
{a) Y2cos0 (b) v2sin6 salllil s e — oo X _
x—0 X
(c) 2coso (d) —v2coso Vi P
e i a“-b b°-a
5. If sec@+tan @ = p, then tandis equal to (@) 5 (b) >
(a) —2° .= (c) a2 -b? (d) b?—a®
Bt 2p 13, limix] =
2
(e 5= () 2P (a) 0 (b) 1
- (c) Does not exist (d) None of these
_x=|x LR . tan x —si
6. |If f(x)= x ,then f(-1) = 1. lim an xxgsmx _
(a) 1 (b) —2 1 1
(c) 0 (d) +2 @ 3 () -5
7. If f(x)=4x®+3x2 +3x+4,then x%(%)ﬁ (c) % (d) None of these
{a) f(-x) (b) KGOSX hen x = %
, ey 15. If the function f(x)={7% 2% 2 be
T
@—[f@j (d) 1) 3. whenx=75
. T
8.  Function f:R >R, f(x)=x* +x_is/ ®a continuous at x ==, then k=
f:R>R f(X)=x?+x & (a) 3 (b) 6
(a) One-one onto/T&®! 3MeBTE® (c) 12 - (d) None of these
(b) One-one into/TddT 3r=ed! 16. If f(x)= {(1+ 2x) ,szVX =0 then
(c) Many-one onto/ SET&»®! IBIEH e? forx =0
(d) Many-one into/ 98T aredl (a)_lim foo=e
9. Which one of the following is a bijective function X0+
on the set of real numbers / /9 § & BT Bad (b) Iiryff(x):e2

IRdfde Al b e § Uhdl I0ed 8
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17.

18.

19.

(c) f(x)is discontinuous at x =0
(d) None of these

(a) -2 (b) O
(c) 2 (d) 4

ax?—b, when 0 < x <1
2,when x =1
Xx+1, whenl <x <2

If f(x)= is continuous at

x =1, then the most suitable value of g, b are

(a) a=2,b=0 (b) a=1,b=-1

25.

A ladder is resting with the wall at an angle of
30°. A man is ascending the ladder at the rate of

3 ft/sec. His rate of approaching the wall is

T WA T AR B W 30°H BT W < 0w

aredl Wi W 3 Bie/IAhvs B AT W °e &, d
SHP IR & U Uged P T 8

(c) a=4,b=2 (d) All the above

X—| X
L,When x =0
X

If f(x)= .then

(a) 3 ft/sec (b) %ft/sec

2,whenx =0

(a) f(x)is continuous at x =0
(b) f(x)is discontinuous at x =0
(c) lim f(x)=2

X—

(d) None of these

26.

(c) % ft/sec

(d) % ft/sec

The slope of tangent to the curve x =t +3t-8,
y =2t? —2t-5 at the point (2, -1) is/da%
Xx=t2+3t-8, y=2t2-2t-5 & g (2,-1) ® &y
X1 B yqorer (Slope) ®
22
(a) 7

6
(b) -

The left-hand derivative of f(x)=[x]sin(zx)_at

x =k, kis an integer and [x] = greatest integer

(c) =) (d) None of these

<x, s

@ (D &k-Dz_____ (b) ()'k-Dx

27.

The point of the curve y? = 2(x —3) at which the

normal is parallel to the liney —-2x +1=0is /a%
y? =2(x —3) &1 98 favg o R e ¥r

_ k 7 k-1 B S,
el _Ed)kz (d)M Yy—2X+1=0% IR B
x+1, when x<2 , - 7 2
e Lﬂf(x):{ZX—l, when x =2’ VT (a) (5,2) (b) (—%,—2)
(a) 0 (b) 1 X
(c) 2 (d) Does not exist (c) (5,-2) (d) (E’ J
21. Oli[cos1 J1+C205X J = 28. Local maximum and local minimum values of the
X function (x —1)(x +2)? are/He (X —1)(x + 27 &
(@) 1 (b) L Y s o ey s 4 2
2 (a) —4,0 (b) 0,4
(Q_l (d) None of these (c) 4,0 (d) None of these
3 ; 5 £y 4 3 ;
Ea 29. The function x®>-5x* +5x°® -10 has a maximum
_ h = /% x® —5x* +5x% -10 Sfeas AM
22. |f y=tan™ Ja-ix .then v When x X ToX ToX S S A
1++/ax dx G &, 99 X =
) 1 ) 1 (a) 3 (b) 2
a (c) 1 (d) O
20+ XWx 1+ XWX
(+—X)1X ﬂ 30. The function x® —-5x* +5x% —1is / ®eH
- (d) None of these 5 _5x% +5x3-1
201+ XWx LooR 1ok B .
_ (a) Maximum at x =3 and minimum at x =1 /
23. If y=e*logx, then g—iis x=3W 3D 7 x =1 [fFs
) — (b) Minimum at x =1 /x =1 TR f4f*
(a) e (b) ex[£+xlong (c) Neither maximum nor minimum at x=0/
X X

(c) ex(%ﬂong (d) e’

24.

logx

The value of dix[l X =1 +| x=5|] at x=3 s

31.

X =0 7 d Sfas 3k 9 & fftTs
(d) Maximum at x =0 {x:oq’\’ﬁ%ﬂ%r

Consider the following statements S and R
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s: Both sin x _and cosx are decreasing functions in

[%”j a1 HUH S SR R AR € s: sinx U

COSX TFI, 3faRTe (Z,HJﬁW 2

R: If a differentiable function decreases in (g, b)
then its derivative also decreases in (g, b)./R:3fg
U& 3qhe Berd 3id_Tel (g, b) § ™M &, @9 39
eld bl adhot- qoTid W FaRT (0, b)H g<HHE B |
Which of the following is true/ @19 A1 $UH 9 B

(a) Both Sand Rare wrong /SR Rl ®2H
Tod &

(b) Both S and R are correct but R is not the
correct explanation for S / S 3R R SHi 2 Wl &,

AfPT R, S U W8l Rl F81 #xal 8

(c) Sis correct and Ris the correct explanation

for S/S TEI BUH & 3R R, S U 2T aR=ur oxell B

(d) Sis correct and R is wrong/ &= S W8l © 3R
R Tad P B

32. If f(x)=sinx —% is increasing function, then
(a) O<x<% (b) —%<x<0
!c’ —£<X<£ !d! )(:1
3 3 2
3x2
338 dx =
J‘x6+1
(a) log(x® +1)+c (b) tan?(x®*)+c
3
() 3tant(x3)+c (d) 3tan‘1[x?J+c
- cotx 7
) logsin x
(@) log(log sinx)+c (b) log(log cosec x)+c
(c) 2log(log sinx)+c (d) None of these
35. jezx(—sinx+2(:osx)dx:
(a) e*sinx+c (b) —e*sinx+c
(c) -e*cosx+c (d) e** cosx+c
X
6. dx =
3 J.x“—l
1 21 1, | x%+1
(a) Zlog{ 5 }+c (b) Zlog{ 2_J+c
2 2
(c) %I [XZ 1}+c (d) %Iog[xz+i}+c
37 J‘”’Z Jeotx
' Jeotx +\/tanx
(@ 7 (b) %

T T

(Q—Z (d) 3
38. .[11)(17 cos* xdx =

(a) -2 (b) 1

(c) O (d) 2
39. r’z sin®’2xdx

0 cos®2 x+sin®2 x

(a) O (b) 7

(c) 72 (d) =/4

40. The differential equation whose solution is
y =€, COS ax +C, sinax _is

(Where c,, c, are arbitrary constants)

2 2
(a) ST)zl+y2:0 (b) 3732/+a2y:0

2 2
(c) 3732/+ay2:0 (d) ST!—azy:O

41. y=ae™ +be™ _satisfies which of the following

differential equations

dy dy
—~ —_my =0 —Z +my =0
@de y (b) x T

d?y d?y
() —+m?y=0 (d) — -m?y=0
dx dx
42. The solution of the differential equation
3e*tanydx + (L —e*)sec?ydy =0 _is
(a) tany =c@l—e*)® (b) @a-e*)®tany=c
(c) tany=c@-e*) (d) @-etany=c

43. The solution of the differential equation

d—y=1+x+y+xy is

dx

2 2
_(Q)_|Og(1+y)=x+x7+c (b) @+y)y :x+x7+c

(c) log(@+y)=1log@+x)+c (d) None of these
dy _x+y is
dx X-y

44. The solution of the equation

-1
(a) C(X2+y2)1/2+etan (y/x):0
(b) C(X2 +y2)1/2 :etan'l(y/x)

_(Q_C(Xz —y2) _ etan’1(y/x)
(d) None of these

dy

45. The solution of the equation &+ytan X =Xx™ cos X

is

é)_(m +1)y = x™" cosx +c(m +1)cosx
(b) my=(x"+c)cosx

(c) y=(x""+c)cosx

(d) None of these
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46. Which of the following equation is non-linear famda =iy (1,2) @ (3,8) & d fa=g (1, 2) & oA
dy b d2y aret fawol &1 wHieR @
@) go=cosx_ (b) —5+y=0 (a) 3x-y-1=0 (b) 3y-x-1=0
(c) dx +dy =0 (d) xﬂ+i:y2 (c) 3x+y+1=0 (d) None of these
dx % 55. If both p and g belong to the set {1,2,3,4}, then
) . ) —_— how many equations of the form px? + gx +
47. The points which trisect the line segmgnt joining 1 = 0 will have real roots?
the points (0, 0) and (9, 12) are /f=31i (0, 0) T (9, @ 1, (b) 10
12) ®I ™ arell X1 & FEEHET R4 a1t fawgen & ==
frdwie 2 (€ 7 (d) 6
(a) (3,4), (6,8) (b) (4,3), (6,8) 56. If (=2, 6) is the image of the point (4, 2) with
(c) (4,3), (8,6) (d) (3,4), (8,6) respect to line L = 0, then L = /afg f3=g (4, 2) &1
48. Theline x +y =4 divides the line joining the X1 L=0a e gfafes (—2,6)8 d@ L=
points (=1, 1) and (5, 7) in the ratio /fd=gaii (=1, 1) 9 (a) 3x=2y+5 (b) 3x=2y+10
(5,7) Y eI drelt T BT X1 x +y =4 4= arur (c) 2x+3y—> (d) bx—dy =7
» - 57. Ifthelines 3x -4y +4 =0 and 6x -8y -7 =0 are
H ffoa el & - .
(a) 2:1 (b) 1:2 tangents to a circle, then the radius of the circle
(c) 1:2 externally (d) None of these is /afe wam Sx—4y+4-0 T 6x-8y-7-0 1%
49. IfP(1,2),Q(4,6)R(5,7)and S(a, b) are the gd B WY Q@ g, df g9 B B0 7
vertices of a parallelogram PQRS, then/af& P (a) 3/2 (b) 3/4
(1,2), Q(4,6), R(5, 7) 3R S(a, b) T iR ISl (c) 1/10 (d) 1/20
PQRS @ ¥ 8, d9 58. _If the radius of the circle x? +y?
(a) a=2b=4__  (b) a=3b=4 -18x+12y +k =0 be 11, then k = /af¢ g
(c) a=2b=3__  (d) a=3b=5 x?+y® —18x +12y +k =0 @I a1 11 &, ik =
50. If the vertices of a triangle be (a,b-c),(b,c—a) and (a) 347 (b) 4
(c,a-b), then the centroid of the triangle lies fE)—i (d) 49
(a) At origin (b) On x-axis 59. Theline Ix+my +n =0 will be a tangent to the
(c) On y-axis (d) None of these circle x? +y? =a?iff /31 Ix+my +n=0,3d
51. Circumcentre of the trianglg formed by the line X2 +y? —a? @ v T YT B AR
y=X, y=2x and y=3x+4is _—
S b (a) n%(%? +m?)=a? (b) a*(? +m?)=n?
(a) (6,8) (b) (6,—8) — —_—
(c) (3.4) (d) (=3,-4) — (e ndm=a__ (d) al+m=n
52. The equation of line passing through the point of 60. Vertex of the parabola 9x? —6x +36y +9 =0 _is
intersection of the lines 4x -3y -1=0 and AT 92 —6x +36y +9 =0 BT MG 2
5x —2y -3 =0 and parallel to the line (a) /3, -21/9) (b) (-1/3,-1/2)
2y -3x+2=0, is @Rl 4x-3y-1=0 q Q) C1/3.1/2) () 1/3.1/2)
5x—2y—-3=0 & Ufoewe Il W gex S drell vd 61 The straieht i ox+ 7 docs motmeet th
m2=0?ﬁ N % 1. e stralg Ine y=2x+ oes not mee e
P (b) 3x—2y_1 parabola y? = 2x, if / R Y@ y = 2x + A W™
(@) x-3y= X—2y= -

(c) 2x-3y=1 (d) 2x-y=1

53

Equation of the hour hand at 4 O’ clock is/4 <17
R HS P S BT TN B

(a) x-3y=0 (b) V3 x-y=0
(c) x+J/3y=0 (d) V3 x+y=0

54.

The opposite vertices of a square are (1, 2) and
(3, 8), then the equation of a diagonal of the
square passing through the point (1, 2), is /& &

y? = 2x B TEI fertl afe

1 1
(a) 2<7 (b) 2>
(c) 14 (d) 1-1

62. |If distance between the directrices be thrice the
distance between the foci, then eccentricity of
ellipse is / afe Frudmil & 9= @1 &1 T1fi & =
P R P AF T B AT STHIT b Sebeadl B
(a) 1/2 (b) 2/3

(c) 1/43 (d) 4/5
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63.

64.

65.

66.

67.

68.

69.

70.

71.

If the eccentricity of an ellipse be 1/+/2 , then its
latus rectum is equal to its /afe & g &

Wﬁmiaa‘rwmﬁmm

V2
(a) Minor axis (b) Semi-minor axis
(c) Major axis (d) Semi-major axis
2 2
If the eccentricities of the hyperbolas X—2 —Z—z =1
a
2 2
and z—z—x—zzl be e and e, , then i2+i2:
a — e
. XZ y2 y2 X2
afe sfdwRaerdl — -4 =1 dur = -~ =1 @1
a2 b b2 a2
ISdR HA: e Tl e, &I, ar i2+i2:
— e’ e;
(a) 1 (b) 2
(c) 3 (d) None of these
Ifla]=3|b| =4 and|a+b| =5, then|a-b| =
(a) 6 (b) 5
(c) 4 (d) 3

If a and b are two non-zero and non-collinear
vectors,thena+banda—bare/aiRadgarbal
I UG IRRRge e 8, dTa+btd a—bd

(a) Linearly dependent vectors/ IRg% wRa—= wafewr

(b) Linearly independent vectors/ IR9% ad—
wafesr

(c) Linearly dependent and independent
vectors/ XRgw WA= U4 Wa= Afed

(d) None of these/ s & B3 &1

If ABCDEF is a regular hexagon and

—_—  — — —  —

(a) 2 (b) 3

(c) 4 (d) 6

What is the value of k for which the sum of the
squares of the roots of 2x% — 2(k — 2)x —
(k+1) =0 is minimum?

(a) =1 (b) 1

(c) 2 (d) 2

If rii=r.j=r.k and]| r| =3,Mr_=

(g)_i3(i+j+k)4(g)_i%(i+j+k)
1 . . .
C 1—3(|+J+k) (d) i\/§(|+j+k)

If a, b, c are non-zero vectors such that
a.b=a.c, then which statement is true

(@) b=c (b) al(b-c)
(c) b=coral(®-c)__(d) None of these

The shortest distance of the point (g, b, ¢) from
the x-axis is

(a) (@2 +b?) (b) V?+c?)
(c) +*+a%) (d) V@*+b%+c?
=2, If the roots of the equation a (b — c)x? +

b(c—a)x+ c(a—b) =0 areequal, then
which one of the following is correct?

(a) a,b and c are in AP
(b) a,b and c are in GP
(c) a,bandc areinHP
(d) a, b and c do not follow any regular pattern

73. The angle between the lines %:%=ila_nd
X_Y_Zys
3 4 5
(a) oos it (b) cos >
5 3
_(g)_cos’lé (d) cos’l%

4. The length of the perpendicular from point (1, 2,
3) to the line X;G YT 20T

2 2 =
(@) 5 (b) 6
(c) 7 (d) 8

=5. The equation of the plane which is parallel to the
plane x -2y +2z =5 and whose distance from the

point (1,2,3) is 1, is
(a) x-2y+2z=3 (b) x-2y+2z+3=0
(c) x-2y+2z=6 (d) x-2y+2z+6=0

~»6. Distance of the point (2,3,4) from the plane
3x—-6y+2z+11=0is

(a) 1 (b) 2

(c) 3 (d) 0

77. If sind+cosé =1 then the general value of 4 is
(@) 2nz (b) n7r+(—1)“%—%
ﬁg)_Zn;w% (d) None of these

. 1 .
»8. |If sin?6= 7 then the most general value of 4 is

(a) 2n7zi(—l)"% (b) nT”i(—l)”%

_(g)_n;ri% (d) Znﬁi%
79. I_% <x < %,then sin"Y(sinx) is equal to

(a) x (b) —x

() 7+x (d) 7—x

11 -1 —
— +C0S ~ X + COs =
X

80. sin!x+sin” =

11
X
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81.

82.

83.

84.

85.

86.

(@ 7 (b) %
3 o
(Q_T (d) None of these
A somon of the equation tan™(L+x)_+tan ‘(1 —x)
/2
== is
_2
(a) x=1 (b) x=-1
(c) x=0 (d) x=x

The value of cos’{cos%}+sin’1(sin5§) i

VA
(a) 0 (b) 7
2 107
) =5
If tantx+tanty+tantz =7z, then L1
Xy yz
(a)0 (b) 1
@ = (d)_xyz
Xyz i
.2
If 3sin~! -2 — 4cos Xy otan 12 T
1—X T+X* T+X* 5
theni=
1
a) I (b)e—
(a) V8. 5
(c) 1 (d) None of these
I (1 "0 4]
SInf —C0S ™ — | =
2 5
1 1
a) — (b) ———
T o
1 1
(Q—E (d) 5
Ifin AABC, a=6,b=3and cos(A—B)zg,then its
area will be

(a) 7 square unit

(b) 8 square unit

(c) 9 square unit

(d) None of these

87. In AABC,if 2s=a+b+c, then the value of
s(s—a) _(s—h)s—¢) _
bc bc
(@) sinA (b) cosA
(c) tanA (d) None of these
88. A house of height 100 metres subtends a right

angle at the window of an opposite house. If the

height of the window be 64 metres, then the

distance between the two houses is 100 Hex

$ATS ATl U B A B U AP &) RIsd] W

TG F=IRT Bl 2 | I 9 I Rasa! & S

64 HeR 81, A1 aFl APHl b 4 Bl g9 B

(a) 48 m

(b) 36 m

(c) 54m (d) 72 m

89. If the angle of depression of a point A on the
ground from the top of a tower be 30°, then the
angle of elevation of the top of the tower from
the point A will be /f&=fl F9R & iR &1 9 ©®
Rerd fa=ft fa=g A &1 /a9 &1 30°2 A1 fag A S

AR & MY B I~ DI0T A
(a) 60° (b) 45°
(c) 30° (d) None of these

90. The value of it*3+5++@+D jg

(a) iifnis even,—iif nis odd
(b) 1ifniseven,—1ifnisodd
(c) 1ifnisodd,iifniseven
(d) iifniseven,—1ifnis odd
91. a+ib>c+id can be explained only when

!a! b=0,c=0 fb’ b=0,d=0
(c) a=0,c=0 (d) a=0,d=0

92. |If z_isacomplex number, then e He) =

(a) 1 (b) -1

(c) O (d) None of these
93. The number of solutions of the equation

722+7=0is

(@) 1 (b) 2

(c) 3 (d) 4

94. Real part of et is
(a) e*®?[cos(sing)] (b) e®*?[cos(cosd)]
(c) e"[sin(cosd)] (d) eS"[sin(sind)]
95. Length of the line segment joining the points
—1—i and 2+3i_is
(@) =5 (b) 15
(c) 5 (d) 25
96. The sums of n terms of two arithmatic series are

in the ratio 2n+3:6n+5, then the ratio of their

13" terms is
(a) 53:155 (b) 27 :77
(c) 29:83 (d) 31:89

97. Let T, bethe r" termofan A.P.for r=1,23,....

If for some positive integers m, n_we have

Tm Zl and Tn Zi, then Tmn equals
n m
1 11
(a) — (b) -+
mn m n
(c) 1 (d) o

98. Let S, denotes the sum of n_terms of an A.P. If

S,, =38, , then ratio 583” =
- n

(a) 4 (b) 6
(c) 8 (d) 10
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99. If a,b,c are p" g™ and rt " terms of a G.P., then

e

b
(a) 1 (b) aPnic’
(c) a%'cP (d) abPcd
100. The sum of 100 terms of the series
.9+.09+.0009......... will be

100

ol ooffy) ]

@ - [10]106 4@1{%}100

an+1 + bn+1

a"+b"

101. If be the harmonic mean between a

and b, then the value of n_is
(a) 1 (b) -1
(c) O (d) 2
102. |f the arithmetic mean of two numbers be A and

geometric mean beg, then the numbers will be

(a) A+(A2-G?) (b) VA +VA?-G?
() A+J(A+G)A-G) __ (d) AENA+C)A=C)

2

103. The number of real solutions of the equation
| x]2= 3] x| +2=0 are

(a) 1 (b) 2
(c) 3 (d)4
104. The number of real roots of the equation
esinx_e—sinx_4_iare
(a) 1 (b) 2
(c) Infinite (d) None
105. The roots of the given equation

(P-gx>+(@-nx+(r-p)=0_are

(a) P=9, (b) 4-°
r-p p- q
() =P, (d) 1,9=F
p-q p-q

106. Let a,a? be the roots of x2 +x+1=0, then the

equation whose roots are «*,a%is
(@) x*-x+1=0 (b) x>+x-1=0
(c) x?2+x+1=0 (d) x5 +x3°4+1=0

107. If x> +ax+10=0 and x?+bx -10 =0 have a

common root, then a? —b? is equal to
(a) 10 (b) 20
(c) 30 (d) 40

108. The number of words which can be made out of
the letters of the word MOBILE when consonants
always occupy odd places is/zrs “MOBILE” @&

fowg v+l R o, Brf

(a) 20 (b) 36
(c) 30 (d) 720

109. The number of 4 digit even numbers that can be
formed using 0,1, 2, 3,4, 5, 6 without repetition
is/afpi 0,1,2,3,4,5,6 P Adx TR bl &I fbai
?WWWW%WWG%WH
(a) 120 (b) 300
(c) 420 (d) 20

110. In how many ways can 15 members of a council
sit along a circular table, when the Secretary is to
sit on one side of the Chairman and the Deputy

Secretary on the other side/u® wfiftl & 15 e
TP M 9 & IR IR fhad TR I 98 dad 2,
Siefe g e @ Udh 3R dodl 2 a0l $U akd

T 3R doar &
(a) 2x121 (b) 24
(c) 2x15! (d) None of these

111. If n_is even and the value of "C, _is maximum,

then r =/3fe n ¥ & 3R "C, o1 A4 HewH &, I

r

n+1

(b) ——

(c) — (d) None of these

e |

3||\J|3

112. Everybody in a room shakes hand with everybody
else. The total number of hand shakes is 66. The
total number of persons in the room is /f&={l &R
H SuRerd U =fth U ook W 81 fiefmar 81 afe
el B AR S @ W1 66 81, O v F SuRkerd
Bl ARKAT B AT B
(a) 11 (b) 12
(c) 13 (d) 14

113. To fill 12 vacancies there are 25 candidates of
which five are from scheduled caste. If 3 of the
vacancies are reserved for scheduled caste
candidates while the rest are open to all, then
the number of ways in which the selection can be
made/12 R I & R4 & {7y 25 SHIEAR &,
R & 5 ergld wifa & 81 afe 3 R e
YT S & SHIeaRt & fordl aIRfgT 8 wefe 9w
¥ el gffirar &, d I9d @ B TP &

(a) °c, x*c, (b) ?*cy -°C,
_ () *cy+°Cy (d) None of these

114. If the coefficients of r": "term and (r +4)"term are

equal in the expansion of (1+x)¥, then the value
of r will be/afd (1+x)*° & yaR # rd Td (r+4)d ual

P UM RIS 8, Al BT q 8T
(@) 7 (b) 8
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(c) 9 (d) 10

115. If the coefficients of T,,T,,;,T,., terms of (1 +x)
arein AP, thenr=/afd @+x)"“a foar #
T Ty Ty ® 0T iR ol & &, ot r=

(@) 6 (b) 7
(c) 8 (d) 9

14

5
116. Coefficient of x in the expansion of (xz + —] s

5
(xz +3j B IR H X BT 0TI &
X

(a) 9a* (b) 1023
(c) 10a? (d) 10a
117. If the coefficients of p™, (p+1)" and (p +2)"

terms in the expansion of (1+x)"are in A.P., then
[ Q+x)" D R | pd, (p+1)dqAT(p +2) d Ul
o) 1 s L S R L < s
(a) n>—-2np+4p?=0
(b) nP—n(@p+1)+4p*-2=0
(c) nP—n@p+1)+4p*=0
(d) None of these

118. The coefficient of x* in the expansion of
@A+x+x? +x3)"ii[_(l+x+x2 +x°)"® TR 7 x4

&1 IOTP B
(a) "c, (b) "C, +"C,
(¢) "c,+"C,+"C,."C,__(d) "c,+"C,+"C,."C,
119. If L +X)" =Cy+Cx +CoX% .. +C,x", then
G S G5, G _
Co C G Crs
n(n-1) n(n+2)
(a) = (b) 5
() n(n+1) h-1)(n-2)
. 2 (d) 2
1 5
120 log.e 5 J5|=
log,,10 5 e
(a) Jr (b) e
(c) 1 (d) 0
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